5/20/2015 Print Test

PRINTABLE VERSION

Quiz 10

You scored 100 out of 100

Question 1

Your answer is CORRECT. s'n*B rcos?e =\

Which of the following is equivalent to

sin’( 0) + cos(8)

cos(0)
sec(0) P Sl'na'e + cos’e = ""l'- = QC-Le)
Cos@ Coseo
b)  cos(6)
¢) sin? (0)
d)  tan(6)
e)  sin(0)

f)  None of the above.

Question 2

Your answer 1s CORRECT.

Which of the following statements are true?

I sin(™, -x)=cos(x)‘/
. tan(™ -x)=cot(x) ¥/

L. cos (™, -x)=sin(x) v/
O

a)  None of these sin T2 -x) = s‘."“-"r/z) Cos(X - CMM U\)
:ﬁas X)
b) I and III only )
v -“7 -%X - Cos
¢) Il and III only .'h"\( “72- - K) = Sin /2 = Cos(x)
Cos (Y2 =x) SN (x)
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e)  Iand Il only = sm“)‘

Question 3
Your answer 1s CORRECT.

Which of the following is equivalent to

tan(6)
sec(0)
@ sin(6)
on o Sin®
b 9 —/ =
) cos(b) Sl @so
¢)  csc(b) _'_
Cos @
d)
sinf) = Sin@ - 5@ :
cos® (0) »
CosO \
¢)
cos? (0)
sin(0)
f)  None of the above.
Question 4
Your answer is CORRECT. Sn(-8)= -5\n0

Which of the following is equivalent to sin (-0) csc (0) + cos (0) sec (0) ?

0 - S$\nb (;i—‘-e\ 4+ Cos 9(.‘_‘};
b)

-2
02 -+ =
d) -1
e 1
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f)  None of the above.

Question 5
Your answer is CORRECT. SinL-P) = -gin Le)

Which of the following is equivalent to sin 2(-0) + cos 2(-0) ?

a)  cos?(0) - sin’(0) C"S(lﬂ LO) )z: s{nzta)

b) 0 Cos (-0) = coslO)
@ 1 .s.'n"e +CocO® =)
d) -1

.2 2
e sin“(0) - cos~(0 .
) (0) - cos *(6) Sin'e 4 cose - |

‘l't‘nn"'e +\ = S“_?-o

Question 6 Seelo _1-0_“1-5 =1
Your answer 1s CORRECT.

f) ~ None of the above.

Simplify the expression 6 sec 2 (0)-61an 2 (9)

a) 12 b (e 20 - tuno)

b)  6sin(0) 2 L) =6
¢)  6cos(0)
d) 602
:

Question 7

Your answer is CORRECT.
Which of the following is equivalent to

tan (@4 T)= sin(e +T) + taun

m- l+an(®+mn) = \ a___
s Lo +T) 1 + cot (0 + 2m) L+ cotb

-
-

Cos(0) cos () —sin(@) s&'ﬁk%’ ° —cog®)
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b)  cos(0) . | N
Cos & Cos 2T - Slhe.s;;é'“
0 cot (@+2m) = C?s(e+2:rr) - D
cos(@) + 1 Sinl@+2Tm) 3S'n O Cos 2T + ¢pose ‘t'%ﬁ.
cos(0) - 1 .
= 050 . cote |
| + 18 sind =
d) - sec() k@ _  coso 5@ Sin@d - sin@ [(osetsie
- LosO® Sing+losg

(2144 .
s Coso 5O t+cose

tan (0) I+ sSe
= tan (6)

f)  None of the above.

Question 8 sin>g +cos 0= |

Your answer 1s CORRECT. Sinlg: | ~ws?o
Which of the following is equivalent to (1 - cos (6)) (csc (0) + cot (6)) ?

c:g@)

[
a)  cos(9) (l_ca’a) ( n® sin LO)

casg cos’o
Sln(e) S|f|o 5&‘9 lﬂ S‘n e

¢) tan(0) 2 Y
| - cos 70 - Sreo '3’_5’:\9—!

d)  sec(0) SnO S\n@
e)
cos(0) + 1
cos(B) - 1
y 3
f)  None of the above. Sintg+costg = | | +cot 8 = (¢sce
Question 9 ws:-e =\ _smze wza =C‘G‘9 -1
Your answer 1s CORRECT.
Which of the following is equivalent to
1
L-si?®) _ costg - 258
_ 7
es2(0) - 1 Cotip A
Slhza

a)  cos’(0) = ws® snv
- 46
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sin(6)

¢)  sin 40)
d)  cot’(0)
e)  tan’(0)

Sin2g + cos?e = |

fth :
f)  None of the above ‘|"an1"0 tl= ¢ 2..6
Question 10

Your answer is CORRECT.
Which of the following is equivalent to zan *(0) + 2 tan2(0) +1 ?
a)  cos’(0) L‘\'ahze +\ ) L“‘N}G +| 3
o (s1%6) Lsic’e) <[ sec*o |
¢)  cot?(0)
d)  sec?(0)
e)  cos*(0)

f)  None of the above.

Question 11

Your answer 1s CORRECT.
Which of the following is equivalent to
SO _ eso
tan() - cot(9) + cos?(0) = (%O sn@ + COs 19
tan(0) + cot(0) .
Srg | €58
a) 1 Cxe Sne
. LS
sin*(0) sin'g-Cxn g 2
Y 51n@ coso 4+ Cos 8= *ne6 _wsza 6inGosa .
c - . ' +cos0
Ls.'nxg + s ’0 )"’" Sing cose )
d)  cos’(6) — |
Sing oSO = Sin?g - ws’e+ wsie
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e)  -sin’(0)
f)  None of the above.

Question 12
Your answer 1s CORRECT.

Which of the following is equivalent to

tan(0) - cot(0) + 1

tan(0) + cot(0)
2 5in%(0) Sin@ _ Cose
cose St'n 6 + l
b)  2cos?(0) — ,
Sn@ oSO
¢) O + —
Cos5o Sn@
d 1
sin’g- cos’@
2
* S\n@ cosO =\
f)  None of the above. ( S’\;\ ie' ’ 'u;;-,a: \
SnP CosSO
- -
ssngrwsag=
sin’g -ws*0 . Smgs® 4 |
o 2
S(nO SO \ Ssng=\-ws'O

S'n'@ —cos’@ x|

$inTO + T_\ 'w“le]

.2
- s\n
5in7'9 “* sm"e = @
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